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QUESTION 1

A customer requires APs that meet these minimal criteria: 

1. 

Support for MU-MIMO 

2. 

Support for up to four spatial streams, both when MU-MIMO is used and when it is not used 

3. 

Support for transmissions to up to three MU-MIMO clients at the same time 

The architect finds these specifications for the two models under consideration: AP-335 = 4x4:4:4:4:3 AP-325 =
4x4:4:4:3:3 

What should the architect determine from these specifications? 

A. The AP 335 and the AP 325 do not meet the customer requirements, so consider a different model. 

B. The AP 325 meets the customer requirements, but the AP 335 does not. 

C. Either the AP 335 or the AP 325 meet the customer requirements. 

D. The AP 335 meets the customer requirements, but the AP 325 does not. 

Correct Answer: C 

 

QUESTION 2

Refer to the exhibit. 
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An architect selects 5406R switches for the aggregation layer. 

What is the maximum bandwidth possible between the aggregation and core layers using 8 strands of OM4 MM fiber at
the distances indicated in the diagram? 

A. 60 Gbps 

B. 160 Gbps 

C. 200 Gbps 

D. 320 Gbps 

Correct Answer: D 

 

QUESTION 3

An architect needs to help a customer design a management and monitoring solution for an Aruba network 

in an airport. The solution consists of an Aruba Mobility Master (MM), Aruba 7210 MCs, Aruba AP-335s, 

and Aruba 5496R switches. 

The architect plans to recommend Aruba AirWare. 

The airport has a high-client device turnover and many highly mobile devices. Which changes should the 

architect make to the recommended solution based on this characteristic? 

A. Recommend additional hardware resources beyond those recommended for the typical tested AirWare platform. 

B. Recommend extra AirWare device licenses to support the changing number of client devices. 
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C. Recommend Aruba Central with a Clarity subscription as a more flexible cloud-based solution. 

D. Recommend Aruba Central with guest access licensing to increase guest visibility. 

Correct Answer: B 

 

QUESTION 4

A financial institution has an Aruba wireless system. Each floor is 19 meters by 23 meters (200 feet by 250 feet) and has
20 APs. The organization now requires dedicated Air Monitors (AMs). 

About how many AMs should the architect recommend per floor? 

A. about 1 or 2 per floor 

B. about 3 to 5 per floor 

C. about 10 to 12 per floor 

D. about 16 to 20 per floor 

Correct Answer: A 

 

QUESTION 5

What typically drives the need for an aggregation layer in modern networks? 

A. insufficient fiber cabling, especially between buildings 

B. lack of high speed uplink capabilities at the access layer 

C. simplification of spanning tree protocol ad the access layer 

D. need to extend VLANs across wider areas 

Correct Answer: C 
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